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2013 NJCL Classical Greek Test

Contest ID 1022

Vocabulary: Choose the English word which BEST translates the given Greek word or phrase.

aKOV®

A. shout
VOV

A. there
i

A. farm
ev

A. well
yiyvopot

A. come
devOg

A. similar
Ex®

A. want
AMBog

A. weapon
KEAED®

A. shout
01KOG

A. house
Opa®

A. open
fion

A. finally
a&og

A. worthy
KOAOG

A. holy
OV

A. stop
dvopa

A. spirit
PEP®

A. run
amoBviiokm

A. die
£0EMm (0 )

A. swim
mpog

A.up
evpiok®

A. make
nyéopon

A. lead

. listen

. after

. earth

. simply
. learn

. obvious
. think

. stone

. believe
. shop

. know

. while

. wrong

. true

. ignite

. command
. remove
kill

. wish
.o

. understand

. drag
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C. see

C. now

C. grass
C. briefly
C. be born
. Clear

. have

. helmet
. call

. barn

. see

. Where

. kind

. beautiful
. break

. name

. carry

. apologize

O O O O O O O O O O O O O O

. run
C. concerning
C. joke

C. rejoice

. accept
. here

. life

. poorly
. know

. terrible
. make

. shield
. order

. neighbor
ift

. already
. harsh

. special
. pour

. law

. protect
. regret

. find

. down

. find

. live



23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

Qoive

A. speak
AoV

A. throw out
delkvout

A. examine
ovV

A. now
HEAL®

A. care for
TUYYAV®

A. greet
GOEAPOG

A. brother
fA10g

A. star
pokpog

A. big
YOAETOG

A. difficult
peta 6¢ TavTo

A. after these things
B. within these things

vV 0¢
A. 50 now
A oG T Kol
A. unless

B.

B

. show

. leave behind
. remove

. then

. prevent
.run

. human

.sun

. distant

. fast

but next

. especially

C. burn

C. go away
C. show

C. when

C. decide
C. happen
C. son

C. moon
C. easy

C. light

C. during these things

o U O O O O U U O O

. eat

. Utterly destroy
. terrify

. since

. be about to

. forget

. father

. day

. sharp

. small

D. on account of these things

C.butasitis

C. otherwise

Synonyms: Choose the best Greek SYNONYM for the give word.

Coon
A. Loov

A. Mbog
O1000K®

A. Todevm
petd

A. mepl

own
A. povn

Bdratta (BdAacon)

B

B

B

B

B

. Bl
. Yévog
. OUE®
. GOV

. Khayyn

C. Biog

C. méhayog
C. téuno
C. xotd

C. pbvog

I11. Antonyms: Choose the best Greek ANTONYM for the give word.

41

42

43

. OTEP

A. mpdg
. Gvnip

A.yovq
. EpOG

A. oM

B

B

B

. epl
. TOAG

. pOPog

C. mopd

C. pmp

C. pioog
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D

D.

o U O O O

. but then

indeed

. Lovn
. Kpag
. KuPepvim
. Lovn

. GLOTN

. omo
. Loov

. YpOVOg



44, yopa

A. o\ B. ¢bo1g C. pig
45. pévo
A. Mo B. Aeinw C. Mppaveo

IV.Grammar: Choose the BEST answer to the question.

46. What are the case and number of “daypoic?”

A. nominative, plural B. genitive, singular C. accusative, dual
47. What part of speech is “yap?”
A. preposition B. adverb C. conjunction
48. Which of the following is the correct genitive, dual for “yépoc”?
A. yepdv B. yepdv C. vépa
49. Make the verb form “ypéipetar”perfect.
A. yéypayar B. éyéypanto C. yéypamton
50. In what tense is “€\vov’?
A. aorist B. perfect C. imperfect
51. “cinov” is a principle part of what verb?
A Myo B. mivo C. aipéw
52. What is the genitive singular of “tic?”
A. tiva B. tivog C. tivt
53. What tense and voice is the participle “cAdpevoc”?
A. future active B. present passive C. present active
54. Which of the following forms of the definite article agrees with “@bAaxi”?
A6 B. tod C.1®
55. What is the 3" person, singular, imperfect, active, indicative form of “giui”?
A v B. oti C. ot
56. What form of the adjective “ndg” would agree with the noun form “neparoic”?
A. miot B. mavti C. mdon
57. What type of adjective is “yaiendtepoc™?
A. positive B. comparative C. superlative
58. What is the superlative form of the adverb “co@pdvnc”:
A. coppovéaTtepog B. coppovéostepov C. co@povéstatog
59. Which of the following is the correct contracted form of “dducém™?
A. aducel B. ddiket C. ddikm
60. What voice is “Adceton?”’
A. active B. middle C. passive
61. What part of speech is “d.ei”?
A. verb B. particle C. preposition
62. In what tense is “€\mov’?
A. imperfect B. aorist C. perfect

63. What is the case and gender of “seonotng?”
A. nominative, masculine B. genitive, feminine C. nominative, feminine

D.

D.

. TOMG

. AovOave

. dative, plural

. adjective

. YEPOG

. &ypéyayo

. present

. elpd

. Tiveov

. future middle

. TOV

.Mte

. Thoog

. intensive

. COPPOVESTOTO
. 0OK®D

. none of the above

. adverb

pluperfect

genitive, masculine

64. What type of conditional is illustrated in: “&i &yyehov mépyar, v péymv ravcoey dv’?

A. future more vivid B. past contrafactual C. future less vivid
65. What case(s) does the preposition “katd” take?
A. dative B. genitive, dative C. dative, accusative
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D.

D.

past general

genitive, accusative



66.

67

68.

69.

70.

71.

72,

73.

74,

75.

76.

77,

78.

79.

80.

81.

82.

83.

84.

85.

Translate the following sentence into English: “tovg apafeig kakd moovca Eravcauey.”
A. We stopped the bad men who were doing ignorant things.
B. We stopped the bad men from doing ignorant things.
C. We stopped the ignorant men from doing bad things.
D. We stopped the ignorant men who were doing bad things.

. What are the gender and case of “conépag” in “sonépag yryvopévig, oi E&vot gic 1o doTv deikovto?”

A. feminine, accusative B. feminine, genitive C. neuter, accusative D. masculine, genitive
What is the accusative plural of “kAdy”.

A. Khdmeg B. khomndc C. khdma D. kA®mog
What type of verb form is “tiuav’?

A. infinitive B. aorist C. imperative D. participle

What is the antecedent of the relative pronoun “@mep” in the sentence: “ékeivot ol 60DA0L TAVTO EMOIOLY
Gmep ékéhevoev 0 deomOTNS”?

A. ékeivol B. dobAot C. navta D. decmotng
What grammatical construction is found in: “ékeivot ol dodAot Tavta Emoiovv dmep Ekédevcey O deomdOTNG”?
A. indirect statement C. impersonal construction
B. complementary infinitive D. indirect question
Which of the following is the best translation of the sentence: “to Bipiiov ddpov”.
A. The book is a gift. B. The gift is a book. C. A book is a gift. D. a gift that is the book
What is the use of the underlined participle in the statement: “ovk fjABopev d¢ 1@ Poociiel moleunoovres™?
A. concessive B. circumstantial C. substantive D. purpose
Which of the following is the best translation for: “tvyydve dv’?
A. | meet them. B. I am. C. | happen to be. D. in reality
What type of infinitive is “éladverv” in the sentence: “keledm v otpatiov Eladvey’?
A. substantive B. complementary C. articular D. in indirect statement
What type of construction is found in the sentence: “€av £A0n, ddpa péper”?
A. indirect question B. result clause C. purpose clause D. conditional
In what position is the underlined adjective: “6 dvOpwmog 0 dya06g”?
A. predicate B. emphatic C. definite D. attributive
Translate: “ody oloi T dopév vikav.”
A. This sort of victory is ours. C. We cannot win.
B. This is not that sort of victory. D. We will not win this.
How would “1i¢” be translated in the sentence: BovAopat yryvookew Tig £V T® Gvip® oikel
A. what B. who C. anyone D. someone
Translate: “ot dvdpec mavta tailg yovauéi Aéyovot.”
A. The women say everything to the men C. All the men talk to the women
B. The men say everything to the women D. All the women talk to the men
What use of the genitive is illustrated in: “T09T@V 0VT®G £Y0VTOV £0MEicOVTO™?
A. objective B. possessive C. absolute D. genitive
Which of the following is the correct translation of the phrase: “xatda vopov’?
A. according to the law  B. above the law C. against the law D. under the law
Translate: “Enepye tovg adTOVS inMénGg.”
A. He sent the horsemen themselves. C. He sent those horsemen.
B. He sent the horsemen. D. He sent the same horsemen.

Which of the following is the best translation of the underlined word in the sentence: “a@uképgevor 8¢ &ic
TOVG Qypovc, ol matépeg tag Buyatépag OpMdGL veaviong Ticl SIUAEYOUEVAG.:

A. after they arrived B. since they arrived C. although they arrived D. because they arrived
Translate: “énoidevodueda.”
A. We are taught. B. We taught ourselves. C. We are teaching. D. We were taught.
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86.

87.

88.

89.

90.

91.

92.

93.

94,

95.

96.

97.

98.

99.

Reading Comprehension: Refer to the following passage for questions 86-100.

i0ete 1dete OT1 EyM i, Kol 00K EoTv 080¢ TANV ELoD"

€YD dmoxtevd kol (v moumom, Totaém kadyd idoopat,

Kol 0Ok E0Tv O¢ £EENETTOL EK TOV YEIPAOV LOV.

OTL dpd €lg TOV 0VPaVOV TV YEIPE Lov kol dpodpon

M) 6&€18 pov Kol Ep@d Zd &ym &ic TOv aidva, Ott

Tapo&LVD MG AGTPATNV THV Hayopdy pov, Kol avOEEeTat
KPILOITog 1 ¥&lp Lov, Kol avtamodmcm diknv Toic £x0poic
Kol 101G ooDGIV e AVTATOdMG®® 0QPAavOTTE, 0VPAVOL,
dpo T, Kol TPOsKLVNGATOGOV aVTd TAVTES Viol Oeod"
evEpavOnte, £0vr, petd Tod Aaod avToD, Kol EVIGYVoATOGV
oOT@ TAvTES dyyelot 00D &TL TO alpo TOV LIBY AVTOD
EkdarTal, Kol EKOIKNoEL Kl AVTAmOdMGEL diknV 101G £x0poig
Kol TOIG GoDGY AVTamoddoEl, Kal Ekkabaplel kKOpLog

Vv yiiv 100 Aood avToD.

Vocabulary Aid (alphabetical):

avtamodidmpt, to repay  €kOkém, to punish EEapém, to remove Aaog, people
avtéyo, to take hold of  ékxaBapilm, to purify ed@paivem, to rejoice péyopo, sword
dotpomnn, lightening évioyom, to be strong idopa, to cure Spvou, to swear

What mood is the verb “i6ete” in line 1?

A. infinitive B. indicative C. subjunctive
The preposition “mAnv” (line 1) modifies which word?
A. 0g0¢ (line 1) B. éuod (line 1) C. éyw (line 2)

In line 2, the speaker says he will:
A. die and live; injure and heal.
B. kill and give life; injure and heal.
What does the speaker say he will lift in line 4?

A. his hand B. boulders C. afinger
According to line 5, what does the speaker say he does “to eternity?”
A. reign B. love C. protect

The best translation of “®¢” in line 6 is:
A. that B. as C.so
In what case is the noun “kpipartog” in line 7?
A. nominative B. genitive C. dative
The speaker says he will repay his enemies with in line 7.
A. wrath B. love C. justice
What is the best translation of “toic picodoiv” in line 8?
A. those who hate B. those who are hateful C. those who are hated
“ovpavoi” in line 8 is in what case?
A. nominative B. genitive C. dative

Give the person and number of the verb “evppavOnte” in line 10?

D

D

D

D

D.

D.

D.

D.

D.

A. third person, singular B. second person, plural C. second person, singular

What case is the noun “aipa” in line 117?

A. nominative B. genitive C. dative
The verb “ékdwmoet” in line 12 is in what tense?
A. present B. imperfect C. aorist
What type of dative is “10ic £x0poic” in line 12?
A. means B. possession C. indirect object

100. Identify the object of the verb “éxkabapiel” in line 13.

A. yijv (line 14) B. xvpiog (line 13) C. hood (line 14)
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D.

D.

nmapo&ovo, to sharpen
Totdoom, to beat
TPOCKLVE®, to worship

. imperative

. It modifies nothing.

C. destroy and create; hate and love.
D. kill and give life; attack and protect.

. Spirits
. live
even
accusative
mercy
those who hated
vocative

D. third person, plural
accusative
future
. agent

. avtod (line 14)



